AN BSINETHEE
(H) ¥Erk304 48 1A

{E) FERE314E 34318

tEEEaEA A= (HifE: F)
B HIETIEE
SRR A 0 0 )
B — v R AR A, 144,636,000 o] 144,636,000
IR ZFBEREAT A 1,260,000 0 1,260,000
J EAEFLGH SN A 0 ¢ ]
NLTTS ST PN 0 0 0
THH BRI A 0 0 1}
| TOMODILA 11,000 ¢ 11,000
IR R kA R S ing 0 ¢ 0
H‘: FERBAR (D) 145,907,600 0| 145,907,000
K| |AHEREH 86,930,000 o] 86,930,000
ﬁ BRI 8,447,600 0 8,447,000
FHEREIM 13,622,000 0§ 13,622,060
57| B0 7 SR PR S 40,000 0 45,000
il 5 R AR 0 0 0
JCHARRE 0 ] ]
Fofho i 0 0 0
WREEZ AR @) 109,039,000 ¢| 109,035,000
FRROESNEE =@ 36,868,000 o 36,868,000
BERER S &N A 0 0 0
| R RS E RS A 0 o of
MNBREESEASEA 0 0 )
HEsRERFRAL (O 0 0 ]
{E N FOMOMERSC L EH 0 0 )
D

% MRS XA (65) 9 0 o
HREESEGNIEE 6)-1)-6) @ 0 ¢
HERESHRASRA 1,049,000 0 1,049,000
WS R S TR A S A 1,000,000 0 1,000,000
e A EnmBARIA 0 0 0
o |FOHOESC L SIRA 25,001,654 0] 25,001,654
fg*g ZOMOEBIL AR (1) 27,050,654 o} 27,050,654
% BSLRERN [ 0 0
| |FRESERASIN 1,049,000 0 1,049,000
% [ MR X 53 PR A G230 1,000,000 o[ 1,000,000
g g v R R SRS 0 0 0
EOMOBRIC L 5HEH 0 0 0
F OO HE (6) 2,045,000 o 2,049,000
FTOMOFER &N IGEEE (D=-@® 25,001,654 0| 25,001,654
FHEREH (o) 0 ] 1}
MRS EERAI (1)=(3+6E)+9)-(10) | 61,869,654 0 61,869,654
AR ERA (1D 0 0 0
HHREHAESEEG QD12 61,860,654 0} 61,869,654




